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1. Сhoose the answer which correctly completes the sentence. 
I'm going to buy ... hose pipe because I'm tired of washing ... car using ... bucket.
A) the/a/—  B) —/a/the  C) a/a/the     D) a/the/a 

2. Сhoose the answer which correctly completes the sentence
Before I came to Turkey, I wasn't accustomed  ... drinking tea without milk in it, but now I quite like it.
A) with    B) to    C) about       D) for 

3. Сhoose the answer which correctly completes the sentence
Is it ... to walk to the ferry terminal from here? There is ... traffic that we will probably get there quicker if we walk.
A) far enough/more       B) so far/as much
C) farthest/the most       D) too far/so much

4. Сhoose the answer which correctly completes the sentence
A: Well, you've been … today, haven't you?
B: Yes, not only have I put up these new shelves, but I have also mended the leaky tap in the bathroom.
A) industrious        		B) confident
C) watchful           		D) careful

5. Сhoose the answer which correctly completes the sentence
I knew that Marcus didn't have much money, but he has just bought a new car. He ... the money from someone.
A) could borrow 
B) must have borrowed
C) would rather have borrowed
D) is able to borrow

6.Сhoose the answer which correctly completes the sentence
Peter may not be ... talented as his brother, but he is definitely ... dedicated.
A) naturally enough/so
B) so natural/the most
C) as naturally/more
D) too natural/too

7. Сhoose the answer which correctly completes the sentence. 
'Fragile, handle with care' ... on the package, but still the contents of the parcel ... when it arrived.
A) had written/would be broken
B) is being written/will be broken
C) was written/were broken
D) would have written/bad broken

8. Сhoose the answer which correctly completes the sentence
If oil ... in Saudi Arabia and the Gulf States, the people there ... among the poorest in the world today.
A) didn't discover/might be
B) hasn't discovered/would have been
C) isn't discovered/will be
D) if hadn't been discovered/would be

9. Сhoose the answer which correctly completes the sentence
We have brought ... money with us ... we have to be very careful about how we spend it during our stay here.
A) plenty of/as                B) so little/that
C) quite a few/that          D) too much/as

10. Сhoose the answer which correctly completes the sentence
- It's not long now before I start my new job in Menissa. I wish we ... a suitable house for sale there, but it seems that we may have to hire one temporarily.
A) have found                 B) could find
C) can find		       D) will find

11. Сhoose the answer which correctly completes the sentence
Can you tell me … to get a good deal on a used car?
A) where		      B) how much
C) what 		      D) that

12. Сhoose the answer which correctly completes the sentence.
I can't remember how many people wanted to be in the play, ... ?
A) did you                  B) do they
C)can I                      D) can't I

13. Сhoose the answer which correctly completes the sentence.
... I dislike sentimental films, sometimes, when I'm not feeling very energetic, I can curl
up on the sofa and watch one.
A) As soon as             B) Much as
C) The moment          D) However

14. Сhoose the answer which correctly completes the sentence.
- He turned out to be the last Stone Age man in America, a member of a tribe ... customs
had not changed ... thousands of years.
A) whose/for              B) which/from
C) whom/since           D) what/until

15. Сhoose the answer which correctly completes the sentence.
... will become clear later.
A) Whenever he goes to visit his family in Ireland
B) When will the new owners take over the car factory.
C) Since the businessmen decided to buy this loss-making factory
D) How the new ownership will affect the Employees

16. Сhoose the answer which correctly completes the sentence.
Syria, … by Roman, Byzantine and Ottoman civilisations, has some striking  architecture  … the influence of all the  three.
A) to occupy/to have been reflecting
B) occupying/to have reflected
C) to be occupying/being reflected
D) having been occupied/reflecting

17. Сhoose the answer which correctly completes the sentence.
Olives are picked unripe, and they … in salt before they … .
A) have pickled/should be eaten
B) are pickled/can be eaten
C) should be pickled/have eaten
D) will be pickled/are eating

18. Сhoose the answer which correctly completes the sentence.
Jeff is very pleased with … for finally breaking away from … family's business.
A) he/his own           B) him/himself
C) himself/his           D) his/him 

Read the text. Then choose the correct answer for the questions below.
Much in medicine which is now taken for granted was undreamed of even as recently as 50 years ago. Progress in diagnosis, in preventive medicine and in treatment, both medical and surgical, has been so rapid as to be almost breathtaking. Today a doctor retiring from active practice will among other things have seen smallpox completely eradicated, tuberculosis become curable, coronary artery disease relievable surgically. One aspect of medicine still resistant to progress in understanding is the effect of mind on body. Many of us still like to think that our bodies are just something we have got into, like cars, that ill health is simply something that has “gone wrong” in one system or another and that therefore provided we find the appropriate expert to correct the fault, we will recover.

19. According to the passage, the rate at which medical advances have taken place during the recent decades … .
A) was previously envisaged
B) has been underestimated
C) is quite startling
D) cannot be accounted for

20. It is pointed out in the passage that there is a close relationship between the workings of mind and the body … .
A) which is of little importance in the treatment of illness
B) but this has yet to be properly understood
C) which most doctors tend to overlook
D) but research into this area is not likely to prove useful

21. The writer uses the “car” comparison to emphasise that most people … .
A) tend to have a mechanical view of the human body
B) have great confidence in the medical profession
C) have the right attitude towards medical progress
D) regard surgery as an indispensable part of medicine

22. What is the closest meaning to the “appropriate” in the passage?
A) absolute  B) suitable  C) right  D) normal

Read the text. Then choose the correct answer for the questions below.
National income is a measure of the total income accruing to the residents in a country in return for services rendered. It therefore consists of the sum of wages, salaries, profits and rents. But not all these income accrues to persons; for instance, companies do not distribute all their profits to shareholders and some nationalised industries earn profits. This is part of national income but not of personal income. On the other hand, some personal incomes are not payments for services rendered. Such incomes are called transfer incomes to emphasise that their payment does not add to the national income, but only transfers income from one agent to another. Included in this category are retirement pensions, family allowances, and student grants.

23. The passage is concerned with … .
A) the need to maintain a balance between the various types of incomes
B) methods of increasing various types of incomes
C) how incomes can be transferred from one person to another
D) the definition of various income categories.

24. By "transfer income", the writer means … .
A) an income like a student grant, which is not paid in return for services rendered
B) the sum total of payments, including retirement pensions, distributed by companies to their employees
C) the revenues contributing to the growth of the national income
D) the circulation of money through trade and other means

25. It is understood from the passage that the national income … .
A) does not benefit from the majority of financial transactions
B) mainly consists of the profits made by industry
C) relies almost exclusively on personal gains
D) does not include all income categories

26. What is the closest meaning to the “income” in the passage?
A) goods  B) star  C) outprint  D) money

Read the text. Then choose the correct answer for the questions below.
According to the United Nations sources, world population in mid-1985 was, 5,290 million, an increase of 90 million in one year. More than half of the total live in Asia (56,9 per cent). Different countries are at different stages in a demographic transition from the stability provided by a combination of high birth rate and high death rate to that provided by a combination of low birth rate and low death rate. Their recent population history and current trend of growth, the age-structure of their population, and consequently their population potential for the near future are all widely different. Most rapid growth is in Africa with rates of over 3 per cent in some countries. In most European countries the rate is less than 1 per cent.

27. It is pointed out in the passage that, of the continents of the world, it is … .
A) Asia where population stability has been achieved most recently
B) Europe that hopes to see an increase in its population
C) Asia that accommodates the largest proportion of the world's population
D) Africa where the population growth has stabilized over recent decades

28. According to the passage, the demographic trend, observed in various countries … .
A) is towards a stability with low birth and low death rates
B) involves high birth and low death rates
C) is pointing to a continued state of population instability
D) will have to be checked

29. The author points out that there is little uniformity … .
A) in the way birth rates are being controlled among
rural and urban populations
B) of population growth among African countries
C) as regards population figures in Europe
D) in the current pattern of the demographic transition of the various countries of the world

30. What is the closest meaning to the “rapid” in the passage?
A) order  B) fast  C) dangerous  D) stupid
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